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Sr. 
N. 

Item Scheduled Areas H.P. 

  Kinnaur  Lahaul Spiti Pangi  Bharmour  Total  Total  

1 2 3 4 5 6 7 8 9 

1 Population 84121 19107 12457 18868 39108 173661 6864602 

 Male 46249 9897 6691 9579 20109 92525 3481873 

 Female 37872 9210 5766 9289 18999 81136 3382729 

2 Scheduled 
Tribes 

48746 15163 10544 17016 32116 123585 392126 

3 Scheduled 
Caste 

14750 1699 536 1246 4560 22791 1729252 

4 Geographical 
Areas 

6401 6250 7591 1595 1818 23655 55673 

5 Density  of 
Population 
per sq.km. 
area 

13 3 2 12 22 7 123 

6 Percentage 
of ST 
population to 
total  
population 

57.95 79.36 84.64 90.18 82.12 71.16 5.71 

7 %age of SC 
population to 
total 
population 

17.53 8.89 4.30 6.60 11.66 13.12 25.19 

8 Percentage 
of ST 
population to 
total tribal 
population 

12.43 3.87 2.69 4.34 8.19 31.52  

9 Decennial 
population 
growth rate 

7.39 -15.25 16.65 7.22 4.99 4.36 12.94 

10 Sex ratio 819 931 862 970 945 877 972 

11 Literacy:       
 a) Persons 80.00 74.97 79.76 71.02 73.85 77.10 82.80 
 b) Males 87.27 84.59 87.37 82.52 82.55 85.50 89.53 
 c) Females 70.96 64.50 70.74 59.27 64.67 67.41 75.93 

12 No. Of 
Households: 

19976 4091 2583 3952 8169 38771 1483280 
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